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D5+ (-3
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® (-5) +2

® (-2) + (-4) = -6




@ (=20) = (+10) © (-120) = (-15) = (+4)

© (+40) + (-20) ® (420) + (-5) + (-2)

® (~4)+ (+1) ® (-8)+ (-2) + (-2)
®6,® @ © e ® 0@
@o. e 56,60
S8

O (-20) = (+10) = -2

© (~120) = (=15) = (+4) = 2

© (+40) + (-20) = -2

@ (420) = (=5) + (-2) = 2

® (-4) = (+1) = -4

@ (=8) + (=2) = (-2) = -2
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(=5) = (-13) +[_] = (+31) - (-11)

O -11 @ 2 ® 19 @ 26 )34

B

5) - (-13) +[_|= (+31) - (-11)
5) + (+13) +[_] = (+31) + (+11)
+8)+[ =42

[ ]=42-(+8) =34
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L O=-1
~B=6

LO=-2
LA =

69
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1+2+3=6
24+44+ @ =6,
3+4+O =6,
1+B+(-1)
©+2+B
A+©®+3=6,
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@ (-4) X (=5) + (=56) + (+7) =12
@ (-10)x 22 +4—(-6) = -4

® 7-(-3)x4-(-10) =29
@12+ (-4) = (-2) x3 = -12

® 32x4+6-(-8) =14

@ (—4) X (=5) + (=56) + (+7)
= {(-4) x (-5)} + {(-56) + (+7)}
= (+20) + (-8)
=12
@ (-10) x 22 + 4 - (-6)
={(-10) x 22} + 4 — (-6)
= (—40) + 4 - (-6)
= {(-40) + 4} - (-6)
= (-10) + 6
=—4

® 7-(-3)x4-(-10)
=7-{(-3) x4} - (-10)
=7 - (-12) - (-10)
=74+12+10
=29

@12+ (-4) = (-2)x 3
=12+ {(-4)+ (-2)} x3
=12+ (+2) x3
=12+6
=18

® 32x4+6-(-8)
= (3%x4)+6-(-8)
=36+ 6 (-8)
=6-+38
=14




7.  4.679x528 +4.679 x 472 & HI2H| AT A9

it :

® 4679 @ 1000 @ 2680 @679 ® 6000

B

4,679 X 528 + 4.679 x 472
= 4.679 x (528 + 472)

= 4.679 x 1000

= 4679
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